
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

حل المعادلات التكعيبية

x + 11x + 10x − 72 = 03 2 4x − 63x + 261x − 162 = 03 2

10x − 19x − 711x + 648 = 03 2 x + 15x + 54x = 03 2

x + 13x + 52x + 60 = 03 2 x + 14x + 51x + 54 = 03 2

4x + 27x − 76x + 45 = 03 2 x − 16x = 03

8x − 95x + 221x − 126 = 03 2 4x − 33x + 83x − 60 = 03 2
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　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

حل المعادلات التكعيبية

x + 11x + 10x − 72 = 03 2

x = −4, −9, 2

4x − 63x + 261x − 162 = 03 2

x = , 9, 6
4
3

10x − 19x − 711x + 648 = 03 2

x = , −8, 9
10
9

x + 15x + 54x = 03 2

x = −9, −6, 0

x + 13x + 52x + 60 = 03 2

x = −2, −5, −6

x + 14x + 51x + 54 = 03 2

x = −2, −3, −9

4x + 27x − 76x + 45 = 03 2

x = , 1, −9
4
5

x − 16x = 03

x = 4, −4, 0

8x − 95x + 221x − 126 = 03 2

x = , 9, 2
8
7

4x − 33x + 83x − 60 = 03 2

x = , 4, 3
4
5
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